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Question | Working Marks
I @ | AC=AB+BC 2
10x+4y il
) N1
. 38X +
by @) | X
(i) | AC=AAF P1
10=841 or 4= Ak K1
108 4=24
4 4
N1
=29
S
2 (@ | L,=550r Fy; =2 or f,, =9 Pl
L,,=20.5 or F,,=29 or f,, =8
1 s (3 \
—(40)—2 —(40)—29 K1
0 =554 = |5 or 0,=205+| 2 —|©)
N J \ y
4 \ 4 h K1
> (40)-29 L a0)-2
205+ 2 (5]=5.5¢| 2 (5)
3 9
N y \ )
N1
11.18
(b) N1
11 Free download @soalanpercubaanspm
3 K1
@ ﬂ:a—2bx_3
dx
a=2and —2b=16 Kl
b=-8 N1
b K1
(®) 2+1?:0
X
(-2,0) N1
d’y - 48
dx” __? Kl
d’y

—=-3, <0 maximum point

N1
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4(a) i "= G Pl
9+(n—1)(3) =21 Kl
N1
n=>5
N1
Tinggi =35 cm
(b) Tz =247 or T3 =307 Pl
a=18n7 “~d=6xn K1
5 K1
S 8 5[2(18:zr)+4(6;zr)]
150z // 471.3 N1
5 10x+10x+y+ y=160 Pl
10x(x) +2(x)(y + x) = 600 el
80—y
y or 0 P1
2
6x> + x(80—10x) = 300 6[80_3’] +y(80_y]:300 K1
10 10
x*—20x+75=0 y°4+40y+2100=0
(x-15)(x-5)=0 (y+70)(y—30)=0 K1
x=35and y =30 y=30and x=5 N1
Panjang =30 m , Lebar =10 m N1
6 (a) ZAO0C =12.095 rad Pl
NACB = 80(2.095) K1
167.57 N1
1 .
b | 780 or E(80)2 sin120° -
L (80Y (2.095
5 (80)"(2.095) K1
7(80)" - K (80)"(2.095) -~ (80)" (sin120° )
2 ' ) K1
N1

16176
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1(a) log,,(x+1) | 0.18 | 0.30 0.48 0.60 0.70 0.78 N1
log,, v 0.97 | 0.66 0.19 —0.12 —0.33 —0.60
One point plotted correctly with correct scale
(b) K1
All 6 points plotted correctly it
Line of best fit
N1
log,, y = log,, p—klog,,(x +1) P1
(c) i) —k = gradient K1
k="2.617 e
ii) log,, p =y —intercept
K1
iii) y = 3.02 N1
3(a) (i) S 3 Kl
mRQ — g and PO — —E
N1
y:—%x+2
Solvey:—éx 2and 3y—-2x-19=0 *
(ii) 4
Q(-2,5) N1
) () | 0(n—m)+(=5)(m) el=m) (129 ](m) K1
=—-2 or =5
n
m:n=2:3 N1
1 191 (19
i) | 5] (G)+(5)| 5 [+(=5)(2) |={ (2)(=5)+(3)(=5) +| = |(0) K1
2 2 2
1
2 2
(i) \/(x -(-2)) +(y-5) =5 K1
N1

x*+y +4x-10y+4=0
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9(a)

(b)

tan x +tan 2x
tan(x+2x) =
l1-tan xtan 2x
2tan x
use tan2x = -
l1-tan” x

3tan x —tan" x

1-3tan” x

Shape ( tan )
3Cycle for O<x<rx
Negative graph

Shifted inrangeO< x <7

Draw the straight line

Number of solutions = 4

B . S S

K1

K1

N1

Pl
Pl
Pl
Pl

N1
K1
N1
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10(@) |G z=-0.5 Pl
58— K1
5 =09 N1
u=60.5
v K1
(ii)P[z:a-éS 60.5]
5
= 0.1841 N1
n(A) = 65 N1
. 6 0 1 6_ 1 Kl
b) i) °C,(m) (1-m) =55
5 N1
m=—
3
2V (1Y)
(i) P(X <2)=1-P(X =0)-P(X =1) or 6C1[§] [ﬂ K1
/16 N1
729
11 K1
®) x*+4=4x OR ﬂ:2x:4
dx N1
k=2
(b) i 3
2 . 1 (y-4)2 K1
I(x +4)dx: ?+4x OR I(y—4)2dy= 3
-y
[1 ] I K1
2] —x2x8 |=16 —x4x8=16
2 2
@ [, (©-4 | | (-9
= 64 8)—4)2 4)-4)2 | 16
N7 v (2) |= 4(-2) == _ i
- (2) gt (-2) . 3 3 : K1
i - B I [
K1
o 18 16—2[16]
3 3
16 N1
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©

y
j(y_4)dy:7_4y K1
[ 2 N 2
(5) (4)
8 ; 4(5) > 4(4) K1
bt 2N
1 N1
=
2
12(a) . 3 N1
(6) (r-3)(2¢t+1)=0 l
N1
=3
3 2
g 21 5¢ 3 K1
3 £
2(3)° ; K1
3 2
2m, di kir1 // —2 &
2 4
(c) a=4t-5 K1
5 N1
f g
4
(d) / 3 ) \ K1
2
5|27, [ 2(5) _5(5) _, (5)
2 1 3 2 ’ -
197




13(a)(1)

(11)

(iii)

(b)(1)

(11)

%(15)((:1))3111(104&) =29

CD =3.985

AC =18.25
AD* =18.25" +3.985" — 2(18.25)(3.985) cos 35°

AD =14.07

sin ZCAD  sin35°

3985  14.07
/CAD = 9.349°
A i C

AC' 3.985

sin (180°—145°-9.349°)  sin9.349°

10.62 cm

K1

N1

Pl

K1
N1

K1
N1

N1

K1

N1
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14(a) x+y<80 N1
VB N1
30x+40y > 3200 N1

(b) Draw one graph correct K1
Draw all graph correct K1
Area R N1
(c) (i) 30 Free download @soalanpercubaanspm NI
(ii) Max point (37,42) N1
k =80(x)+40(y)
K1
Max fees =80(37) +40(42) -
RM 4640
15 K1
@1 Ps 00110
90
RM 99 N1
(b) I...=136.95 P1
136.95 ol
[...———x100
7157170
N1
124.5
Fl
(C) Ipﬂ}-*ung = 135 Ikﬂ.m! = 120
135)(120)+120(180)+ 1 K1
( )( ) ( ) Beg _ 124.5
360
by = 117 N1
X
—x100=117
30 K1
RM 35.10

N1
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Question 7(b)
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